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CHAPTER OUTLINE:

I. Paid-in Capital

A. Common Stock

1. Rights and obligations of common stockholders

2. Par value/no par value

3. Shares authorized, issued, and outstanding

B. Preferred Stock

1. Differences from common stock

2. Illustrations of dividend calculations 

3. Differences from bonds

C. Additional paid‑in capital

II. Retained Earnings

A. Items that cause retained earnings to change

B. Cash dividends

1. Recording transactions

2. Dividend dates

C. Stock dividends and stock splits

1. Reasons for stock dividends and stock splits

2. No impact on total market value of company's stock

III. Accumulated Other Comprehensive Income (Loss)

A. Why included in stockholders’ equity

B. Cumulative Foreign Currency Translation Adjustment

IV.  Noncontrolling (Minority) Interest

 V. Reporting Changes in Stockholders' Equity Accounts

VI. Owners’ Equity for Other Types of Entities

A. Proprietorships and Partnerships

B. Not-for-Profit and Governmental organizations

VII. Appendix—Personal Investing
TRUE/FALSE:

____   1. Although net assets and stockholders' equity are synonymous terms, no particular 
               corporate assets are identifiable to individual shares of stock.

____   2. Stockholders' Equity is comprised of two principal components: paid-in capital and 
               retained earnings.

____   3. Dividends can be declared at any time by the board of directors (even in a net loss year), 


so long as there is: 1) a sufficient balance in the Retained Earnings account to absorb the 


dividend without creating a deficit, and 2) sufficient cash to pay the dividend.

____   4. Common stockholders have unlimited liability, because in the event of bankruptcy, claims 


to creditors and preferred stockholders are paid off first.

____   5. Although common stockholders are the owners of the corporation, they typically have 


little influence on day-to-day operations of the firm.

____   6. Under cumulative voting, each stockholder is entitled to one vote per share of stock 


owned, regardless of how many directors are being elected.

____   7. Under slate voting, common stockholders vote for a group of directors, rather than 


individual directors.

____   8. It is more difficult to get minority representation on the board of directors if slate voting is


used, rather than cumulative voting.

____   9. If common stock with a $20 par value was sold for $27, the Common Stock account would 


be credited for $20 per share, and the Retained Earnings account would be credited for $7 


per share. 

____ 10.
No-par common stock is sometimes assigned a stated value per share, which is treated the


same as par value when recording stock issuances.

____ 11. The number of shares issued and outstanding will be the same if no treasury stock is held 


by the corporation.

____ 12. Treasury shares are those that have been authorized, but have not been issued.

____ 13. The preemptive right gives individual stockholders veto power over proposed mergers and


acquisitions.

____ 14. Convertible preferred stock allows preferred stockholders to exchange their preferred 


stock for bonds at a specified conversion rate, especially when the bonds are paying higher 


dividends.

____ 15. Retained Earnings represents the amount of cash available to pay dividends.

____ 16. Retained Earnings is decreased by net losses, cash dividends, and stock splits.

____ 17. Cumulative preferred stock is a less risky investment than common stock because 


preferred dividends in arrears must be paid before common stockholders are entitled to


receive any dividends.

____ 18. The participating feature of preferred stock sometimes allows preferred shareholders to


receive more dividends than their stated percentage of par value would otherwise provide.

____ 19. When a 2-for-1 stock split is issued, the total market value of the firm does not change 


significantly, but the number of shares outstanding doubles and the market value per share


is reduced to half of its original amount.

____ 20. Treasury Stock is increased (debited) for the current market price per share at the time it is 


purchased, and is decreased (credited) for the current market price per share at the time it 


is resold.

____ 21. On the dividend payment date, the stockholders whose names were of record on the date


of declaration are mailed checks for the dividend per share that was declared on the date of 


record.

____ 22. Stocks normally trade "ex-dividend" (i.e. without the dividend) two business days before 


the date of record so that: 1) it is understood who will receive the dividend, and 2) selling 


prices can be adjusted accordingly.

____ 23. Stock dividends and stock splits are alike in that they do not involve the use of assets, and 


they do not affect total stockholders' equity or net income.

____ 24. For small stock dividends (less than 20-25% of outstanding shares), the Retained Earnings 


account is reduced by the par value per share, but for large stock dividends (more than 20-


25%), the market value per share is used to reduce Retained Earnings.

____ 25. Most stockholders would be indifferent between a 20% and a 40% stock dividend because 


their proportionate ownership of the corporation would remain the same in either case.

____ 26. Callable preferred stock allows the corporation to repurchase and retire preferred stock 


(usually at a slight call premium) when management wishes to do so.

____ 27. Dividends become a liability to the corporation on the date of record, at which time it is


determined to whom they are payable.

____ 28. Accumulated Other Comprehensive Income (Loss) is a category of stockholders’ equity 
               that includes a firm’s cumulative foreign currency translation adjustments, unrealized 
               gains or losses on available-for-sale investments, changes during the period in certain

               pension and other postretirement benefit items, and gains or losses on certain derivative 
               instruments.

____ 29. "Cumulative Foreign Currency Translation Adjustment" is an element of the Accumulated 


Other Comprehensive Income (Loss) category of stockholders’ equity, and can have either 


a debit balance (representing cumulative foreign currency translation losses) or a credit 
               balance (representing cumulative foreign translation currency gains).

____ 30. Noncontrolling interests in consolidated subsidiaries must be clearly identified, labeled, 
               and presented in the consolidated balance sheet within equity, but separate from the 
               parent’s equity.  

____ 31. The noncontrolling interest caption shown in the consolidated balance sheet represents the 

               balance of this account in the parent company’s general ledger.

____ 32. When noncontrolling interest must be reported as an equity item within the consolidated 

               balance sheet, the use of the caption “Equity” as the lead description for this section of 

               the consolidated balance sheet is more appropriate than captions such as “Stockholders’   

               Equity” or “Shareholders’ Equity”.

____ 33. A separate financial statement to report the changes in each of the stockholders' equity 
               accounts is normally reported in a tabular fashion.

EXERCISES:

	1.
	The beginning balance of the Huskies, Inc.’s Retained Earnings account was $44,700 on January 1, 2014.  During the year, the following transactions took place:

a.  Huskies sold $14,000 of merchandise inventory to customers on account for $22,000. 

b.  Cash collections on these accounts amounted to $12,000.

c.  Merchandise inventory costing $9,000 was purchased on account.

d.  Additional common stock was sold to investors for $16,000.

e.  Stockholders were paid $9,800 in dividends.

Assume that it is the end of the fiscal year and that the books have been closed.  What 

amount should be reported for Retained Earnings on the December 31, 2014, Balance Sheet?

Use the format suggested in your textbook for reconciling the Retained Earnings account.

	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	
	
	

	
	


	2.
	Beakem Inc. has 10,000 shares of 8% cumulative preferred stock and 20,000 shares of 

common stock outstanding.  Par value for each is $100.  No dividends were paid last year,

but this year a $200,000 dividend is paid.  How much of this $200,000 would go to the holders of the common stock? 

	
	__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

__________________________________________________________________________

	
	

	3.
	On January 1, 2014 the stockholders' equity accounts for Redbird Inc. showed the following:

   Common Stock, $10 par






   $100,000

   Additional Paid-In Capital






       50,000

   Retained Earnings







     160,000

During the year, the transactions summarized below (items a-e) took place.  Give the proper journal entry for each, assuming that they occurred in the order shown.  If no journal entry is required, write “No entry.”  (Hint: Remember to take into account the effects of prior entries, especially as it relates to the number of shares issued and outstanding.)
a.  Declared a two-for-one stock split.



	
	ACCOUNT TITLES AND EXPLANATION                                DEBIT              CREDIT

	
	
	
	

	
	
	
	

	
	

	
	b.  Declared a cash dividend of $1 per share.



	
	ACCOUNT TITLES AND EXPLANATION                                DEBIT              CREDIT

	
	
	
	

	
	
	
	

	
	
	
	

	
	

	
	c.  Issued a 10% stock dividend (current market rate is $6 per share).



	
	ACCOUNT TITLES AND EXPLANATION                                DEBIT              CREDIT

	
	
	
	

	
	
	
	

	
	
	
	

	
	

	3.
	d.  Purchased 200 shares of our own stock to be held in treasury (current market price is $7

     per share).

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                DEBIT              CREDIT

	
	
	
	

	
	
	
	

	
	
	
	

	
	e.  Sold 100 of the treasury shares purchased above (in item d) at the current market price of

     $8 per share.

	
	

	
	ACCOUNT TITLES AND EXPLANATION                                DEBIT              CREDIT

	
	
	
	

	
	
	
	

	
	
	
	


SOLUTIONS:

	
	
	
	
	
	
	
	
	
	
	
	

	1.
	
	T
	11.
	
	T
	21.
	
	F
	31.
	
	F

	  2.
	
	T
	12.
	
	F
	22.
	
	T
	32.
	
	T

	3.
	
	T
	13.
	
	F
	23.
	
	T
	33.
	
	T

	4.
	
	F
	14.
	
	F
	24.
	
	F
	
	
	

	5.
	
	T
	15.
	
	F
	25.
	
	T
	
	
	

	6.
	
	F
	16.
	
	F
	26.
	
	T
	
	
	

	7.
	
	T
	17.
	
	T
	27.
	
	F
	
	
	

	8.
	
	T
	18.
	
	T
	28.
	
	T
	
	
	

	9.
	
	F
	19.
	
	T
	29.
	
	T
	
	
	

	10.
	
	T
	20.
	
	F
	30.
	
	T
	
	
	


Exercises
	1.
	

	
	Retained Earnings balance, beginning of year……………………………..
	
	$44,700

	
	Add: Net Income *…………………………………………………………
	
	8,000

	
	Less: Dividends…………………………………………………………….
	
	(9,800)

	
	Retained Earnings balance, end of year……………………………………
	
	$42,900

	
	

	
	* Net Income is computed as:

	
	Sales………………………………………………………………………..
	
	$22,000

	
	Less: Cost of Goods Sold…………………………………………………..
	
	(14,000)

	
	Net Income…………………………………………………………………
	
	$   8,000

	
	

	
	Note that items b, c, and d have no impact on either net income or retained earnings.  
Item b involves the exchange of one asset (an account receivable) for another asset (cash).  Item c involves the purchase of an asset (merchandise inventory) and creation of a liability 

(accounts payable).  Item d involves the receipt of an asset (cash) in exchange for an 

stockholders' equity interest (common stock).


	2.
	Preferred Stock:  
10,000 shares outstanding * $100 per share = $1,000,000 par value * .08 = 

$80,000 dividends per year * 2 years  = $160,000
Common Stock: 

$200,000 - $160,000 = $40,000


	3. a.
	No entry is required for stock splits.

 

	
	ACCOUNT TITLES AND EXPLANATION                             DEBIT              CREDIT

	b.
	Retained Earnings………………………………………..
	20,000
	

	
	          Dividends Payable…………………………………
	
	20,000

	
	[20,000 shares outstanding * $1 per share]
	
	

	
	
	
	

	c.
	Retained Earnings………………………………………..
	12,000
	

	
	          Additional Paid-in Capital………………………...
	
	12,000

	
	[20,000 shares outstanding * .10 = 2,000 additional 

shares issued * $6 per share]
	
	

	
	
	
	

	d.
	Treasury Stock……………………………………………
	1,400
	

	
	          Cash………………………………………………..
	
	1,400

	
	[200 shares * $7 per share]
	
	

	
	
	
	

	e.
	Cash………………………………………………………
	800
	

	
	          Treasury Stock…………………………………….
	
	700

	
	          Additional Paid-in Capital………………………..
	
	100
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